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HERE WEEERF(A) | BMEERFE(®B) | R (W-®)
iR BRI A 143, 036, 708 147,507,080 A4, 470, 372
a REEENGE 171, 511, 160 165, 279, 030 6, 232, 130
I % BEREFENE 100, 000 0 100, 000
=4 E DA DU 2, 563, 643 4,610, 621 A2, 046, 978
2 F—ERTEEIREER (1) 317, 211, 511 317, 396, 731 185,220
= NG 230,307, 324| 218, 249, 858 12, 057, 466
L] B 35, 507, 046 383, 745, 254 1,761, 792
W | |FBR 15, 448, 160 15,211, 710 236, 450
w | 7B imng 20, 840, 429 21, 460, 684 620, 255
D EEME &SRS TR A3, 186, 941 A3, 186, 941 0
i P— U REEE AR (2) 298,916,018 285, 480, 565 13, 435, 453
F—ERBREHEREEG)=(1)-2) 18, 295, 493 31,916, 166] A13, 620, 673
*{“ Z BB SN 214, 369 6, 060 208, 309
1;:; % Z DD F— A TEEFMTEE 1,835 22, 032 A20,197
&5 P— B REHSMRIER @ 216, 204 28, 092 188,112
% | TOMDY—EAEBARA 111, 680 15,118 96, 562
1% By —exmasemt6) 111, 680 15,118 96, 562
il P—ERESSERER(6)=(D)-(B) 104, 524 12,974 91, 550
REHEBEZEBE(D=3)+(6) 18, 400, 017 31,929,140 A13,529,123
B | gy | T PHuORRINEE 7,622 0 7,622
B | % [epiinasst @) 7, 622 0 7,622
i BERERHE - 0518 0 3 A3
B %’ SaliotlE =t 0 287, 539 A\287, 539
D ol R C)) 0 287, 542 A\287, 542
0 HERIERZER (10)=(8)-(9) 7,622 A\287, 542 295, 164
YR EERZEE (1) =(7) +(10) 18, 407, 639 31,641,598 A183, 233,959
o (AETHRETEBIEREEME (12) 660, 363, 790] 608, 722, 192 51, 641, 598
% HHRARETR B (13)=(11) + (12) 678, 771,429 640, 363, 790 38, 407, 639
B lmremnE (19 0 0 0
g ZDMOFT &SR (15) 0 40, 000, 000f  A40, 000, 000
% Z DOHDOTENLEHLH (16) 53, 000, 000 20, 000, 000 33, 000, 000
B kT B (17) = (13) + (140) +(15) - (16) 625,771,429 660, 363,790{ A34, 592, 361




